02 12 23

G

1,055 | 1,055] 0
R3 R5 R7
0
0 1 2
6
0 6 6
20 22
20 20 22
.
67 100
67 100 100
.
3
0 0 3
57.0  58.8
57 57 59

A07-001 A07-002 AO07-003 A07-004 AO07-006 A07-007




R03 |R04 [RO5 [RO6 [RO7

A07-001 L=3.1km [ B BN A B ] 374

A07-002 114 [ D B B 47

A07-003 [ [ [ [ [ 83
92 8

A07-004 | B ] 111

A07-005 13 | B ] 8

A07-006 L=0.5km ¢ 700 1,350 | B ] 255




R03 |R04 [RO5 [RO6 [RO7

A07-007 . 5
A07-008 L=0.6kn 01 1800 1500mm e 172
[ L[] 1,055

1,055|




RO3 RO4 RO5
@ 204 120 18

) 0 0 0

(c=a+h) 204 120 18
(@ 0 204 106

e) 0 218 109

() 204 106 12

@ 183 61 0

(h = c+d-e-f) 0 0 3
(i = (g+h)/(c+d)) 89.7 18.82 2.41

10







HEBARAEIMAE P - RAafe
FHETIICET 2 FAGEOR SRR Bh5 - Z4)  (FHAGHE)
BRBEE ~ RRTUEE (M) e
‘ FNAE B2 X 5HE X | L "\ N " / ‘ A07-001, A07-002 RhYIIRTAVNEE
i | . . L2} 3
/ / ‘ A07-003, A07-004, A07-005 HhENTEEXE

LY
ERXiE

TKEEIZKD
BEHERE

BESE KIS
TEES
A
J R e
AL

A07-007 fit/K{LZEZ

A07-006 IBAE KIS EHRER

.
\ Ll RS
AR
— R R
3 _ L m—
T . _— EHRERRETOKE
| : // ‘ ‘ \JRmEER L 1B
T . }
ol A07-008 BABIIFKISREEE |
3 ) Vi - [—] #Ex (BK)
2 == Rk
/ / N = HE




